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1. (10%) (a) What is the channel-length modulation effect? (b) What is the body effect?
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2. (10%) Sketch the circuit and layout of CMOS source follower.



3. (10%) According to the following figure, find the differential-mode gain (|Apm]),
common-mode gain (Acm.om) and CMRR, respectively, if the output impedance of current
source Iss s infinity and all of the components are matched.
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4. (15%) In the following figure, please find the three poles of this amplifier using Miller
effect.
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3. (10%) In the following figure, the voltage Vy, is the bias voltage, please find the

small-signal differential gain Vou/Vi,.
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6. (10%) In the following figure, use Miller effect to find the two poles and one zero,
respectively.
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7. (15%) Please find the output voltage Vo, as shown in the following figure. If Vo, will be a

reference voltage and independent to temperature, please find the condition.
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8. (20%) According to the following figure, find closed-loop input resistance (Rigclosed),
closed-loop output resistance (Rociosed) and closed-loop gain (A ciosea), respectively.

0]



